read—2suv.loop : 2.0.0-1917-rel-enterprise : 2.0.0-1929-rel-enterprise

runtime — 1.01x
peak mem — 1.00x
peak disk 1.12x
Result

. Pass
latency—set (95th) 1.02x
latency—get (95th) — 1.26x
drain rate — 1.01x

[ [ [ [
3.0x 2.0x 1.0x 2.0x 3.0x

(rlghter IS betterggd—ZSUV.loop /2.0.0-1917-rel-enterprise / 2.0.0-1929-rel-enterprise / 02 Nov 2012



2.0.0-1917 2.0.0-1929

Runtime (in hr) 5.03 5
Avg. Drain Rate 434.09 437.64
Peak Disk (GB) 128.08 114.74
Peak Memory (GB) 16.5 16.44
Avg. OPS 14.41K 14.49K
Avg. mem memcached (GB) 16.22 16.11
Avg. mem beam.smp (MB) 259.09 304.26
Avg. CPU rate (%) 15.62 31.46
Latency—get (90th) (ms) 1.1 0.99
Latency-get (95th) (ms) 2.34 1.86
Latency—get (99th) (ms) 13.27 7.6
Latency—set (90th) (ms) 1.29 1.15
Latency-set (95th) (ms) 1.98 1.93
Latency-set (99th) (ms) 3.7 3.83
Latency—query (80th) (ms) NA NA
Latency-query (90th) (ms) NA NA
Latency-query (95th) (ms) NA NA
Latency—query (99th) (ms) NA NA
Latency—query (99.9th) (ms) NA NA
Avg. QPS 0 0
Avg. XDC ops/sec NaN NaN
Avg. XDC queue NaN NaN
Rebalance Time (sec) 0 0
Testrunner Version 3932051 6ffa465
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View read per sec.
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ns_server: ep_diskqueue_drain
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ep—engine : ep_diskqueue_drain — 10.2.1.58
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ep_diskqueue_drain

ep—engine : ep_diskqueue_drain — 10.2.1.61
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ep_diskqueue_drain

ep—engine : ep_diskqueue_drain — 10.2.1.63
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ep—engine : ep_diskqueue_drain — 10.2.1.64
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ep_bg_fetched
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tmp_oom ops/sec
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plica_eject
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ep_tap_replica_queue_backoff
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vb_active _resident_items_ratio

vb_active resident_items_ratio
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curr_items

curr_items

19.07M =

14.31M =

9.54M =

buildinfo.version
« 2.0.0-1917-rel-enterprise
e 2.0.0-1929-rel-enterprise

Number of items in bucket

U
5000

)
10000
————time (sec)———>

]
15000

read-2suv.loop / 2.0.0-1917-rel-enterprise / 2.0.0-1929-rel-enterprise / 02 Nov 2012



cur_items_total

38.15M =

33.38M =

28.61M = ° °
°
m' buildinfo.version
qE) 23.84M = + 2.0.0-1917-rel-enterprise
| ¢ 2.0.0-1929-rel-enterprise
5
[5)

19.07M = . .

Total number of items
14.31M =

U ] ]
0 5000 10000 15000

IE— —_—
time (sec) read—2suv.loop / 2.0.0-1917-rel-enterprise / 2.0.0-1929-rel-enterprise / 02 Nov 2012



46.57G =
37.25G =

2]

Q °
P

-Q L]

27.94G =
18.63G =
] U ) ]
5000 10000 15000
————time (sec)———>

mem_used

I

buildinfo.version
2.0.0-1917-rel-enterprise

2.0.0-1929-rel-enterprise

Engine's total memory usage

read-2suv.loop / 2.0.0-1917-rel-enterprise / 2.0.0-1929-rel-enterprise / 02 Nov 2012




Docs data size
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Docs disk size
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Docs actual disk size
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Views data size
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Views disk size
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Views actual disk size
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Views fragmentation
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iostat — Disk Read (kB/s)

Disk Read (kB/s) : 10.2.1.61

buildinfo.version
2.0.0-1917-rel-enterprise
— 2.0.0-1929-rel-enterprise

Disk read across all hard drives (kB/s)

I
0

—_ 1] —_
time (SeC) read—2suv.loop / 2.0.0-1917-rel-enterprise / 2.0.0-1929—-rel-enterprise / 02 Nov 2012



iostat — Disk Write (kB/s)

Disk Write (kB/s) : 10.2.1.61

buildinfo.version
2.0.0-1917-rel-enterprise
— 2.0.0-1929-rel-enterprise

Disk write across all hard drives (kB/s)

I
0

—_ 1] —_
time (SeC) read—2suv.loop / 2.0.0-1917-rel-enterprise / 2.0.0-1929—-rel-enterprise / 02 Nov 2012



Average %util : 10.2.1.61

35.00 =
34.00 =
33.00 =
5
X - :
ﬁ buildinfo.version
) 2.0.0-1917-rel-enterprise
) 82.009 — 2.0.0-1929-rel-enterprise
8
[%2]
ke,
31.00 =
Average disk utilization percentage
across all hard drives (kB/s)
30.00 =
29.00 =

J
0

—_ 1 —_>
time (SeC) read—-2suv.loop / 2.0.0-1917-rel-enterprise / 2.0.0-1929—-rel-enterprise / 02 Nov 2012
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read—2suv.conf

# read 12M load, 1M hot reload, 2M access creates, draining
# 30 clients

# speed limit = 15k

#

# system memory: 20G per node

performance.eperf.EPerfClient.test_eperf_read
params:

# general

batch=50
kind=nonjson
mem_quota=20000

# load phase
hot_init_items=2000000
items=20000000

# cbstats collector
cb_stats=1

# access phase

# Read:Insert:Update:Delete Ratio = 90:3:6:1.
ratio_sets=0.1
ratio_misses=0.05
ratio_creates=0.30
ratio_deletes=0.1428
ratio_hot=0.05
ratio_hot_gets=0.99
ratio_hot_sets=0.99
ratio_expirations=0.005
max_creates=8000000

# control (defaults: pytests/performance/perf_defaults.py)
mcsoda_heartbeat=3

mcsoda_max_ops_sec=500

tear_down=1

tear_down_proxy=1

tear_down_bucket=0

tear_down_cluster=1

tear_down_on_setup=0



terra.ini

[global]
username:root
password:.couchbase
port:8091
data_path:/data2
Index_path:/data

[servers]

1:10.2.1.61
2:10.2.1.58
3:10.2.1.63
4:10.2.1.64

[clients]
1:10.2.1.59

[membase]
rest_username:Administrator
rest_password:password



